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1 Introduction

1.1

1.2

Objectives

2 EMe 20153 287 HA=CiSti Software Engineering =20l T30| 74
Network Printer System(0|Sk NPS)2| System testE =23t Z1t0f| CHs AM&=3H 2A0|
2t
7

Ck A 23 System Testing Plang HIEC =, 7|50| MHE $8EP=X =0l

St= Ao -2 0 ZdSIRILCE TestE F&ot7| 2ot A2t testE AT ZOME
stolst 4 YRS i,
References

2015SE_NPS_SRS_1.0

T3-2015SE-NPS-SRS-2.5

T1-2015SE-NPS-STP-1.0

2 System test case specification

2.1

2.2

2015

Test case specification identifier

T3_NPS.STC.Number.Number

Test items

Identifier Specification

T3_NPS.STC.000.000 | “Admin usradd username” HME &, username : SE& A}
2% 0|2

T3_NPS.STC.000.001 | “User1 usradd username” HTME &, username : S5 At
&%t Ol &

T3_NPS.STC.001.000 "Admin usrdel username” HME &, username : ATHE At
&%t Ol &

T3_NPS.STC.001.001 “User1 usrdel username” ZWE U3, username : AHA|E At
&%t Ol F

r

T3_NPS.STC.002.000 "Admin A4 amount_of A4” HHME Q3 amount of A4 : &
Stx}; ot X & YH

T3_NPS.STC.002.001 “Admin A4 90" FHMHE =

T3_NPS.STC.002.002 “Admin A4 110" MHE A=

T3_NPS.STC.003.000 "Admin Ink amount_of_ink” HME 23, amount_of ink : &
StaXt Sh= 43 & Y
Class B Team 1 3
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T3_NPS.STC.003.001

"Admin Ink 2900" 7™

T3_NPS.STC.003.002

“Admin Ink 3100" 7™

T3_NPS.STC.004.000

"Admin usrcheck"S =

T3_NPS.STC.004.001

2
“User1 usrcheck"S & &
(o]

2]
T3_NPS.STC.005.000 | “User1 Print testtxt"S Y (EXSHA| b= MY E2)
T3_NPS.STC.005.001 "User0 Print testtxt'S Y8 (SEFEX| @2 AEAY E9)
T3_NPS.STC.005.002 | “User1 Print testO.txt"S 3 (gl oYY ZL)
T3_NPS.STC.005.003 | “User1 Print test1.txt"E = (8t 0| 3024t = 227t
= )
T3_NPS.STC.005.004 | "User2 Print test2.txt'S Y& (88X g2 E9)
T3_NPS.STC.005.005 | “User2 Print test3.txt'S 2 (Y3 QYS E)
T3_NPS.STC.005.006 “User2 Print test4.txt"S YU (test4.txtLtY = A| Qs+ &
X|o] ¥0| 1002 €S B2
T3_NPS.STC.005.007 “User2 Print test5.txt"S U= (test5.txtLt == Al st Y
39| &0l 30002 H2 42?)
T3_NPS.STC.005.008 "User2 Print test6.txt"S YU (testo.txtLtY = A| Qs &
X|o| ¥0| 60, ¥A2| 20| 600Y &)
T3_NPS.STC.005.009 | “User2 Print test7.txt"S 23 (test7.txtmt £ A| 25t &
X|o| ¥0| 4, A9 40| 40Y E2)
T3_NPS.STC.005.010 | “User2 Print test8.txt"S 23 (test8.txtItY £ Al 25t &
X|o| &0 5 ¥l 40| 50 E2)
T3_NPS.STC.005.011 "User2 Print test9.txt"S U3 (testo.txtLt =3 A| 23t £
X|o| ¥0| 6, A2 A0 60Y E2)
T3_NPS.STC.005.012 | “User2 Print test10.txt"S 3 (test10.txtLtY = A| QD

EX|2 &0 7, 439

%0l 702 F2)

T3_NPS.STC.005.013

“User?2 Print test11.txt"S

T3_NPS.STC.005.014

“User1 Print test” BEIAE

EE
i =29 ko) o
o 0|5 TR Y Y2

T3_NPS.STC.005.015

[R=]

“User1 Print test.txt'S ¢ =

T3_NPS.STC.006.000 stop’E ¥ (EH 0| ot M)
T3_NPS.STC.006.001 stop’E YL (EH T € M)
T3_NPS.STC.007.000 | A|ZtO| g o 3O Z=oHCt
T3_NPS.STC.007.001 Z2E FY I 42 =3t}
T3_NPS.STC.007.002 07 28 32 oY EE =it
T3_NPS.STC.007.003 | 8X| TS it
T3_NPS.STC.007.004 43 TS =it
T3_NPS.STC.007.005 | X HEHE Z3HCt

Class B Team 1
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Set 2

Set 3

Set Number Input Identifier
Set 1 X A|Zt2 2O ZHC) T3_NPS.STC.007.000
EX| ZtE2 90t 2O =St} | T3_NPS.STC.007.003
A3 THHS 0t 3HHO| =HICE | T3_NPS.STC.007.004
“Admin usradd UserA” 7{THE Q& T3_NPS.STC.000.000
n2 0|E4

"Admin usrcheck”"=

T3_NPS.STC.004.000

“User1 usrcheck"S &

T3_NPS.STC.004.001

“Admin usradd UserA” {HE Q|2

T3_NPS.STC.000.000

“UserA usradd User1” M E

T3_NPS.STC.000.001

=
“Admin usrdel UserA” HHE /&

T3_NPS.STC.001.000

“Admin usrcheck’E® &

T3_NPS.STC.004.000

“Admin usrdel UserA” HHE /&

T3_NPS.STC.001.000

“User1 usrdel UserA” {THE

ST

>
~

T3_NPS.STC.001.001

T3_NPS.STC.007.000

P = = .

X ZHEES o{Qt 2O =St | T3_NPS.STC.007.003
Y3 TS 21012 2tHO| == otCt. | T3_NPS.STC.007.004
"Admin usradd User1” HHHE Q1 T3_NPS.STC.000.000
X THEES COf AHE gHEo| mY | T3_NPS.STC.005.016

o
E23ICt "Userl Print test.txt” 7

S E

2 fjo

T3_NPS.STC.002.000

T3_NPS.STC.007.003

T3_NPS.STC.002.001

T3_NPS.STC.002.002

T3_NPS.STC.003.000

T3_NPS.STC.007.004

T3_NPS.STC.003.001

T3_NPS.STC.003.002

“Admin Refill” 7{MHE A=

STP Off SIX|ZH A|AH

2g s *7}

A

AT AZHS BHEHO| ZEHCt T3_NPS.STC.007.000
X ZTHEFES 0{Qt 20| ==Lt | T3_NPS.STC.007.003
A3 TS 101t SO =3BIC} | T3_NPS.STC.007.004
“Admin usradd User1” HMHE Q& T3_NPS.STC.000.000

Class B Team 1
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“Userl Print testtxt"S Y (EXYst
X| e oy 42)

T3_NPS.STC.005.000

“User0 Print testtxt'E &= (SE2L

T3_NPS.STC.005.001

X g2 AFBRY 2
(o]

"Admin A4 3" HME =

T3_NPS.STC.002.000

= |
I

_u_

“Admin Ink 50" HME

T3_NPS.STC.003.000

“stop” HME AH

T3_NPS.STC.006.000

“User1 Print testOtxt"E ®= (8l mof

ol o o
29 39

T3_NPS.STC.005.002

“User1 Print testl.txt"S U (3t &
of 3024 He 497t YS M)
testl.txt: 402 X2 4= o & K
BHAE oY

T3_NPS.STC.005.003

Sif| TtE2 CF AH|g fHEol nh
£ ZESICL “Userl Print testtxt” 74
HE

T3_NPS.STC.005.016

“Admin usradd User2” 7{THE Q&

T3_NPS.STC.000.000

“User2 Print test2.txt'S €= (X

g2 39

T3_NPS.STC.005.004

“User2 Print test3.txt'S €& (Y3

gig 740)

T3_NPS.STC.005.005

"Admin A4 80" HTMHE ¢

T3_NPS.STC.002.000

H T
"Admin Ink 2000" HMHE Q&

T3_NPS.STC.003.000

"Admin Refill” HME 4= STP Of SIX|TH AJAE HA
82 s =7t
"User2  Print  test4txt"S 3 | T3_NPS.STC.005.006
(testd.txtTtY =3 Al TRt X9
20l 1002 H2 49
"User2 Print  testS.txt"E Q& | T3_NPS.STC.005.007
(testS.txtItY &= Al Zast 439
20| 30002 €2 4%?)
AN SEHE = T3_NPS.STC.007.005
“User2  Print  test6.txt"S YU | T3_NPS.STC.005.008
(teste.txtItY = Al HQst X
o 0| 60, A2 20| 600 &
<)
X SEHE St T3_NPS.STC.007.005
Z2E FQ dg2 =t T3_NPS.STC.007.001
Class B Team 1 6
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oM MENE ZEoHC) T3_NPS.STC.007.005

Z2E FQ dEs SO T3_NPS.STC.007.001

"User2  Print  test7.txt"E R | T3_NPS.STC.005.009
(test7.txtItd =3 Al ZQ3t X

SN MEfE Z=oHCh T3_NPS.STC.007.005

DZE Bl 42 Tt T3_NPS.STC.007.001

“User2  Print  test8.txt"S 3 | T3_NPS.STC.005.010
(test8.txtItY = Al Q3 X

o &0l 5 YA 0| 508 BR)

“User2  Print  test9.txt'E U
(test9.txtIt =3 Al East

o &0l 6, A2 0| 60

T3_NPS.STC.005.011

"User2  Print  test10.txt"S & | T3_NPS.STC.005.012
(test10txtItY =3 Al Q3 &
X|lo| ol 7, 439 ¥o| 70 &4
<)
07l @ =2 oY FEE FHo | T3_NPS.STC.007.002
Ct.
X THZ A0t 2HHO| ZDICE | T3_NPS.STC.007.003
Y3 TS 21012 2tHO| = otCt. | T3_NPS.STC.007.004
“User2 Print test11.txt"S U T3_NPS.STC.005.013
(test11.txtItY &= Al TR £X|

o ol 7, 3L ¥O| 70 BF
“User2 Print test11.txt"S

=
50 #7 7S B2 39

T3_NPS.STC.005.013

AN
"User2 Print test6.txt"S ¢ &

T3_NPS.STC.005.008

"stop"S YZTHCE

T3_NPS.STC.006.001

x| MEjE BB

T3_NPS.STC.007.005

“User1 Print test” EIAE IiQO| 0|2

=3 (o] S o
S TR Y FL

T3_NPS.STC.005.014

Output specifications

Set Number | Input |dentifier Expected Output
Set 1 S AlZHS 2HHO| =3 | T3_NPS.STC.007.000 | &X A7+ : 00A| 00
oot =
Class B Team 1 7
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Set 2

2X TS A0} 3 | T3_NPS.STC.007.003 | £X| Zt&F : 00
o ==stct
A3 THEFS A0t FHH | T3_NPS.STC.007.004 | {3 ZFHEF : 00
o ==ty

“Admin usradd UserA” 74

HE 92

T3_NPS.STC.000.000

UserA S2

"Admin usrcheck’'S =

T3_NPS.STC.004.000

User List : UserA

"User1 usrcheck’S &

T3_NPS.STC.004.001

HMc oF

“Admin usradd UserA” 74

T3_NPS.STC.000.000

e 4 s= i
“UserA usradd User1” 74T | T3_NPS.STC.000.001 | HAME &

S

“Admin usrdel UserA” 7{TH

C— Olgxd
— H=

T3_NPS.STC.001.000

UserA AHK|

“Admin usrcheck"E ¢! =

T3_NPS.STC.004.000

User List :

“Admin usrdel UserA” 7{TH

C— Olgxd
— H =

T3_NPS.STC.001.000

UserA ZE=X{SHX| 0t

APH| 2T

“User1 usrdel UserA” 7{TH

I

T3_NPS.STC.001.001

HUE 2F

S A|ZHS 3HHO| Z2 | T3 NPS.STC.007.000 | $Xf A|ZF : 00A| 00
St} 2

2X TS 10{Qt M | T3 NPS.STC.007.003 | £X| Xtk : 00

o ==t

A3 TS 240} ™M | T3_NPS.STC.007.004 | ¥3 FHZF : 00

o ==t}

“Admin usradd User1” 7

oj= olzd
=

T3_NPS.STC.000.000

Userl 52

H =
ST RS of A O
go mYs UL

“Userl Print test.txt” 7{TH

T3_NPS.STC.005.016

E 2 3000, &8 A7t @ A
2= X &
T3_NPS.STC.002.000 | X 20 &7
T3_NPS.STC.007.003 | £X| Zt&F : 20
T3_NPS.STC.002.001 | X =1tz CQlgt =
Class B Team 1 8
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Set 3

™ Aj
T3_NPS.STC.002.002 | X =X # =1t

2 oIst 5™ Aoy
T3_NPS.STC.003.000 | ¥= 1000 =H

T3_NPS.STC.007.004

T3_NPS.STC.003.001

T3_NPS.STC.003.002

"Admin Refill” HMHE =

STP Off X AlA
g HAYHEZ s =

7t

S| A|ZtS 3O Z=2 | T3_NPS.STC.007.000 | ®X§ A|ZF : 00A| 00
SCL, 2

2X TS A0t 3 | T3_NPS.STC.007.003 | £X| Xt&F : 00

o ==stct

A3 FHEFS A0t FHH | T3_NPS.STC.007.004 | {3 ZFHEF : 00

o ==stct

“Admin usradd User1” 7

HE 93y

T3_NPS.STC.000.000

"User1 Print testtxt"S @ | T3_NPS.STC.005.000 | =XfdIA| L= mO|
o (EXWSHA %= oY o=z =3 Aij
B9
"User0 Print testtxt"S @ | T3_NPS.STC.005.001 | S2%|X| A2 ALEXt
H (SELX %S ALEXL O|l22 &3 A1f
o E2)
T3 _NPS.STC.002.000 | 8% 3 =H
T3_NPS.STC.003.000 | ¥3 50 &7
“stop” HME AA T3_NPS.STC.006.000 | &3 0| OfLE=
F A Ay

T3_NPS.STC.005.002

00(H T Al Zh).txt

=
X =Y, EX

1: CC)DIE-

2.0

e

A8
[e]

>

1

Class B Team 1
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“User1 Print testl.txt"S ¢
=2 (ot =0 3024 He
27t UAEZ M) testl.txt:
402Xt2 FEE o E W

2 HAE T

T3_NPS.STC.005.003

00(HMAIZhixt M
S =", BX A2
1, 943 A3 : 30, &

AlZE 1=

ko

X TS Cf AH O

=
= =
=2 mIgs =Ho

“User1 Print test.txt” 7T

C Olzq
— Hd -

T3_NPS.STC.005.016

“Admin usradd User2" 74

e 9

T3_NPS.STC.000.000

"User2 Print test2.txt"S @ | T3_NPS.STC.005.004 | X glgo=z Qlst

= (X 8l 89 =8 Hof

“User2 Print test3.txt"E @ | T3_NPS.STC.005.005 | €3 glge=z= ¢Qlot

2 (23 9l 49 =8 Hoj

‘Admin A4 80" FTHE 2 | T3_NPS.STC.002.000 | &X| 80 &7

Eﬂ|

"Admin Ink 2000" A= | T3_NPS.STC.003.000 | €3 2000 X

e

‘Admin Refill” A= 242 1 STP Off SAX[2H A& | &X] 43 TH T
g HAES I8 = | (A2t 28X, 1P HHY
7t X %)

"User2 Print test4.txt"S © | T3_NPS.STC.005.006 | &% #Hel =1 ZQ

H (testdtxtLtY =T A 2 Sl mgoez

Zast &X[Q ¥0| 1002 e

g2 49

“User2 Print test5.txt"E 2 | T3_NPS.STC.005.007 | ¥3 =it HE Z

A (testS.txtLtY EZ A QESHE  OYoEE

2ot d39 40| 3000 =3 HIf

2 48 49

SR ALENE =asic) T3_NPS.STC.007.005 | status : CH7|&

“User2 Print test6.txt"E
H (teste.txtItY =
Al East X9 O

60, Y39 A0 600

¥ 1o

T3_NPS.STC.005.008

00(FAXHA| Zh.txt &
2 =3 88X AF .
60, ¥3 AF : 600,
28 AlZh 60

74 O)

oT
SiX| HEHE =EoiCt T3_NPS.STC.007.005 | status: EHZ
Z2E ZO AMzg ZF3 | T3 NPS.STC.007.001 | User2 now /60, now :

Class B Team 1
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s} oxf =89 3¢ B

oAxf SEfE =it T3_NPS.STC.007.005 | status: 8%

Z2E FQ AMZES £ | T3_NPS.STC.007.001 | status: EHZF
ohCH

“User2 Print test7.txt"E ¢

H (test7.txtOtY =

T3_NPS.STC.005.009

Al Haoh 8X|e] 0| 4, 43 A3 12, &
4, 439| A0| 40¢ & 2 AlZh4x
<)

SAXi MEHE =t T3_NPS.STC.007.005 | status : =&

Z2E FQ AMZE £ | T3_NPS.STC.007.001 | User2 now /20, now :
=g AN =8 52 B

"User2 Print test8.txt"S ¢
2 (test8.txtmtY =
Al EHest X9 20|
5, ¥39 &0l 50 4

)

T3_NPS.STC.005.010

00(MAIZhixt M

X A8 ;.

“User2 Print test9.txt"S
H (testo.txtItY =
Al EHest gX[e &

6, ¥32| 0| 60¥ &

JH o

o

%)

T3_NPS.STC.005.011

X AR
22 60, &
62

“User2 Print test10.txt”

T3_NPS.STC.005.012

=
AUA  (test10.txtItY = 2 =38, EX &2
H Al ZHast 8X|o & 7, Y93 A2 .70, &
of 7, ¥32| 20| 70 Q Azt 7%
4%)
7] 28 ¢ oY ME | T3_NPS.STC.007.002 | User2 4, User2 5,
£ =it User2 6, User2 7
X ThEkg 10{et 3 | T3_NPS.STC.007.003 | X| ZH&F : 100-now,
ol &strt now : X = 92
2
Y3 TS 940l T | T3_NPS.STC.007.004 | @3 Tt : 3000-
o ==ty now_ink, now_ink : &
Motx| ==Hot A3
%t
"User2 Print test11.txt"E | T3_NPS.STC.005.013 | OO(HAHA|Zh.txt A
U4 2 =Y 88X AR

Class B Team 1




Ver. T1-2015SE-NPS-STR-1.0

(test11.txtLtY = Al E 7, 43 A3 70,
23t 8X|9| ¥o| 7, 43 Q AlZH:7x

o %o 702 Z2)

“User2 Print test11.txt"E | T3_NPS.STC.005.013 | # =1tz ©Qlst =
&q=" (L7 B2 F7t 7t5 o

o o
M2 42

“User2 Print test6.txt"S | T3_NPS.STC.005.008 | 00(RA|Zh.txt Ad

= X EYH X 2R
60, Y3 AL : 600,
20 AZh60%

"stop"s AL T3_NPS.STC.006.001 | X =3 FO|H I}
Y = FL

S SEfE EEotrt, T3_NPS.STC.007.005 | status : =& -> [f
715 > EYF

"Userl Print test” E|AE | T3_NPS.STC.005.014 | ofQ =HExt O] =gt

ool olg2 X Y o= Qlst &3 i

3 Environmental needs

NPSS| System testE ?I¢ 28X A2z ZE FFO YH2 CygwinOf| M 2ASHCE

2015 Class B Team 1 12
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4 System test summary report
4.1 Test summary report identifier
4.1.1 Common Features
System test= & 37H2| setQ 2 TSI HAEEZ TASHAULCE

Common featurese= 2 E setd] 3EXMCZ HOX|= Ay

58 = A= =EAM, AL"O0| AF5t=X|E EESt= Ao s etrt

X LCD A#BBOM Y3, 0|9 L0| 3000,10022 E7|3E|0] A0 (SpeciD_000_002) MEj= CH7| ZO2 L= ZHE &S 5= QU
Ct. (SpecID_000_000,SpeciD_005_001) =3t HA| IR U A|ZH0| Z=={E|M(SpeciD_005_000) $1xf ZZIE k[= FO| OfL|B2 ZZIE FIFY
22 = = 2UCt(SpeclD_000_001) (NPS STP 1.09| 3 & =xX)

: 188 Status : Wait

Frint How—
0 8,8
Print Wait-

4.1.2 Set

2015 Class B Team 1 13
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Set Input |dentifier Expected Output Result Display Result Description
Numb
er
o o = N = : 3888 Paper : 188 Status : Wait
Set1 | ®X| A|ZtZ 3} | T3_NPS.STC.007.000 AT AIZH 1 00A] 00 | eadss Passed
Hof| ==t Peint Vait-
0 a
0 A
(]
0 a
0 8
X ZHEFS 9 | T3_NPS.STC.007.003 X T .00 T | PaSSEd
- [2015-11-17 17:28:45
ojet A = i o
2_1_6‘;'.['- Print Wait—
IPixt - O
oER HITE M4 27V EEEH)
o
Y3 TS 9 | T3_NPS.STC.007.004 | ¥ FH2k : 00 e | P25s€d
ofet s2to| = e
E.:‘ JO_I- EI- Print Wait—
IPixt - O
oER HITE M4 27V EEEH)
w
. [Please Order : Admin usradd Userf
“Adm|n USI’add T?)_N PSSTCOOOOOO USEI’A %% ficcount Data Load Success Passed
Login ID : Admin
" O i t Ci d = usradd
UserA” 7{TE voute Manger.
olaq Add Success.
H =

Class B Team 1
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“Admin

usrcheck’E ¢
=2
24

T3_NPS.STC.004.000

User List : UserA

Please Order : Admin uspcheck
Account Data Load Success
Login ID : Admin
Input Command :
[Excute Manger.

usrcheck

"User1

usrcheck’'E ¢
24
=

T3_NPS.STC.004.001

[Please Order = Userfl usrcheck
ficcount Data Load Success
Login ID : Userf

Input Command : usrcheck

luth error.{code:13>

Please Order : Admin usradd Userf
Account Data Load Success

Login ID : Admin

ITnput Command : usradd

[Excute Manger.

Already Exist ID : Userfi.{code:i4>

[Please Order : Userfl usradd Userl
Account Data Load Success

Login ID : Userf

Input Command : usradd

Auth error.{(code:13>

“"Admin usradd | T3_NPS.STC.000.000 UserA BSECE
UserA” FHUME s= AIj

=

“UserA usradd | T3_NPS.STC.000.001 HHE F
Userl” ZHWME

U=

“Admin  usrdel | T3_NPS.STC.001.000 UserA 2HX|
UserA” FHME

o

Please Order : Admin usrdel UserA
Account Data Load Success

Login ID : Adnin

ITnput Command : usrdel

[Excute Manger.

Delete Success.

“Admin

usrcheck’E ¢
=
24

T3_NPS.STC.004.000

User List :

[Pleaze Order : Admin usrcheck
Account Data Load Success
Login ID : Admin
Input Command :
[Excute Manger.

usrcheck

[Please Order : Admin wusrdel UserA
ficcount Data Load Success
: Admin
Input Command : usrdel
[Excute Manger.
serfl is not exsist.{codezl5)

"Admin  usrdel | T3_NPS.STC.001.000 UserA ZEX{SIX|
UserA” ZHUE AbK| AT

&4

"User1 usrdel | T3_NPS.STC.001.001 HUHE @F
UserA” ZFHHE

[Please Order : Userl u
Account Data Load Succ

Login failed{code:11>

Ver. T1-2015SE-NPS-STR-1.0

Passed

Passed

Passed

Passed

Passed

Passed

Passed

Passed
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Ver. T1-2015SE-NPS-STR-1.0

S T3_NPS.STC.007.000 AlZH - 00A] 008 | PrEESET | Passed
Hoj| ==stct
8X| TS 9 | T3LNPS.STC.007.003 | X T+ : 00 "R | Passed
oot stHO| =
HSICH
IPixt -
oF HEE A4 B2V E2ZH)
A3 ZTEFZ 21 | T3_NPS.STC.007.004 o3 THEF ;00 Passed
Print Now—
oot stHO| = rint. it
HoIC
IPixt -
oYFE EHITE A 2w ESZH)
3000
o0
Please Order : Admin wusradd Userl
“Admin usradd T3_NPS.STC.OO0.000 User1 %% ficcount Data Load Success Passed
ogin ID : Admin
User1” FHUME e ramae, o
olzl Eﬁ:‘ Add Success.
SIXf ZHEkS CF | T3_NPS.STC.005.016 00(EHIHAIZhtxt AN Passed | A4, Ink &S st ©
aHg  QHE9 2=y, 88X THE He| &go|giert 22
o2 =3 100, €3 ZHEF : 3000, o3t AR 2 MY
Ct. “User1 Print A9 AZH . ARE B o2 ChH|

2015 Class B Team 1 16



Ver. T1-2015SE-NPS-STR-1.0

testtxt” FME x|

U=

"Admin A4 20" | T3_NPS.STC.002.000 82X 20 ¢ Failed
HE 4

22X ZhEF2 2] | T3_NPS.STC.007.003 X THE 20 Failed
oot stHo| =

HSICH

“Admin A4 90" | T3_NPS.STC.002.001 X =12 olst =H Failed
AME A =

"Admin A4 110" | T3_NPS.STC.002.002 X 5™ "He =12 Failed
HHE 4 QIsH & Ay

“Admin Ink | T3_NPS.STC.003.000 o3 1000 &H Failed
1000" FHUWME

2=

/= FrzR=2 9] | T3_NPS.STC.007.004 A3 THEF 11000 Failed
oot ztHO| =

SO

“Admin Ink | T3_NPS.STC.003.001 o3 xntz Qlst =H Failed
2900 M E A Tf

=

“Admin Ink | T3_NPS.STC.003.002 Y3 B B == Failed
3100 HWE Qs S Aof

2=

‘Admin  Refill” | STP O QiX|2t AJAE | A4 QF Ink BF Z7 | Siheriies il | Passed | K 2FAFSO| A0S

2015 Class B Team 1 17
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Set 3

[Please Order =

Ver. T1-2015SE-NPS-STR-1.0

Admin Refill

7—|?—HE %}Ej' Eﬂﬁ%l% -?—l-é-H 2F_7|- ElEXl(%EAlax) ficcount Data Load Success (0 02= $7|§+ :'6_
[Login ID : Admin . o o
Input Command = Refill Refill OPE 3000_; Hl.
[Excute Controller. Ep S =
all Refill 2 340l &)
Ink : 3800 Paper : 188 Status : Wait
A15-11-17 18: 2}
Print Mow—
0 8.9
Print Hait—
0
0
0
0
]
o _._ - : 3008 Paper : 108 Status : Wait
SX| A|ZHE 3} | T3_NPS.STC.007.000 XY AlZE - 00A] 002 Passed
Mol =orct Peint Uato-
8X| THEE 9 | T3_NPS.STC.007.003 | X &2 : 00 N | Passed
Print Now—
ofet SO = Peint Vait-
=3HC
IP.bx
oEF HEE MY 27V =E8EH)
3000
1od
Y3 TS 9 | T3_NPS.STC.007.004 Y3 THE 100 Passed
ofet otEHO| =
H3HC
" . = Please Order : Adnin wusradd Userl
Admin usradd T3_NPS.STC.OO0.000 User1 3% ficcount Data Load Success Passed

User1”

(]
2/2

F{oHeE

ogin ID : Admin

Input Command =
xcute Manger.
Add Success.

usradd

Class B Team 1

18




2015

“User1 Print
testtxt'S QYU
(EMNSHX|  %E=

I 32

T3_NPS.STC.005.000

nz 62

El
==

rir
=)
ne
=)

Ver. T1-2015SE-NPS-STR-1.0

[Please Order : Userl Print test@.txt

Account Data Load Success

[Login ID @ Userl

Input Command : Print

[Excute Controller.

all writePrintQue

[File not Found<{code:31>

Passed

“"User0 Print
testtxt'S YUH
(SEE[X] Y=

AHBRY F9)

T3_NPS.STC.005.001

[Please Order : UserB Print test.txt
Account Data Load Success

Login failed{code:1i1)

Passed

T3_NPS.STC.002.000

T3_NPS.STC.003.000

ustopn 7"'?_”5

o

T3_NPS.STC.006.000

“User1 Print
testO.txt'S
g o(H O

22)

T3_NPS.STC.005.002

Fleasze Order : Userld Stop
Account Data Load Success
Login ID : Userdl

Input Command - Stop
[Excute Controller.

[Please Order : Userdl Print test@.txt

Account Data Load Success

[Login ID : Userl

input Command : Print

[Excute Controller.

all writePrintQue

[File Found?
[Empty file can’t Print.

Passed | =3 F0| OfLIEZ F
2 MIj[0foF St 2
TAFEOl= EXYSHA] 9
= MHEE CH7] &
g e &+ 3F Jts
o

Passed |t mIAY FL KA
oz FHEX YEF
2=

Class B Team 1

19




2015

Ver. T1-2015SE-NPS-STR-1.0

[Please Order :

Userl Print testl.txt

"User1 Print | T3_NPS.STC.005.003 OO(TAMAIZhtxt A7 | S Passed
Tnput Command : Print
testlixt"S ¢ U £, 8X 42 : 1, | S
- [Please Order :
g (3 =0 30 U3 AT 30, AQ A |
= | 201511171812164xt - O
=1 L o DE EEE MA©) 27 C2YH;
= Xl‘ IE-II e 7C:>‘ T |7—|- 1 —*— 123451 23451 2345123451 234512345
7|_ 9)\% [[H) 7J - B ,,,tESﬂM7DI|EQ
=1 12;15‘1 23;5 1:2&451"23745\1 234:51’ 23451 E:Ejﬁil 2;&5
test1.txt: 402X}
2 FyE 3
= K| "HAE
ot
T3_NPS.STC.005.016 00(EHTHAIZh.axt M Passed | A4, Ink X st ©
X == 88X THE O el ZHgo|IRelrt =2
U3 THE 0, 28 Al 235t HAZ =3 AdH
b ARE EX & OS2 A
" . Please Order : Admin usradd User2
Admin usradd | T3_NPS.STC.000.000 User2 S pcoaunt Data Load Success Passed
Login ID : Admin
User2" 9" ?_HE Input Command : usradd
[Excute Mangew.
Add § 55,
olzl Eﬁ:‘ ucce
B N Please Order : User? Print testZ.txt
“User2  Print | T3LNPS.STC.005.004 | X QS22 0Qlot = | EuriEutess Passed
—_ Input Command : Print
testz.txt"g obl Eﬁ )éULH eute Controller.
all uritePrintQue
[File Found?
(84 G2
42)

Class B Team 1
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[Please Order : User2 Print test3.txt

Ver. T1-2015SE-NPS-STR-1.0

“User2 Print | T3_NPS.STC.005.005 QA3 QISc=z Qst = pecount Bata Load Success Passed
Login : User
test3.txt'E& 3 4 j Eroute Concrolier, |
a4 ol ol o all writePrintQue
= [File Found?
= (23 W= an’t Print . (code:30)
39)
T3_NPS.STC.002.000 | 8% 80 &H
T3_NPS.STC.003.000 23 2000 BH
[Please Order : Admin Refill
STP O” gixlu‘—l- Alﬁ% %Xl ?DIE' x‘—-lx-” %'x—-l Account Data Load Success PaSSGd
AEl2 9Ol = A Login ID : Admin
E'"—ol = Tlo _I_7|- (Allj—I' _1_.9.)(, IP |:||'J|1|X| Input Command : Refill
oro [Excute Controller.
LS I:I)
. — [Flease Order : User2 Print test4.txt
“User2 Print | T3_NPS.STC.005.006 X HQ XTI ZQZ | e Data Load Success Passed
H Serm
testdtxt'E Y St= IYUOIEZ £ | At
a4 _— Al all writePrintQue
[File Found?
- (teSt4'tthLI. = = I an’t Print. (code:3B)
z2 A Tay
X2 0]
1008 d& &
%)
" B o [Please Order : User2 Print testS.txt
User2 Print | T3_NPS.STC.005.007 2 fiocount: Data Losd Success Passed
ogin = User
" Input Command : Prin
test5.txt’'S Y 2 rente Contrallon
_ alll \-u-itel:l-intQua
E_#l (teStS.tthlfo' @1‘ [File Found?

=
s2 Al mag
(o]

an't Perint.{code:38>
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Ver. T1-2015SE-NPS-STR-1.0

30002 €2 Z&
)
- o = : 188 Status : MHait
oX| JEHE & | T3LNPS.STC.007.005 | status: CH7|&E Passed
Eﬁ 'ﬂ- E|-_ grg: Vait-
"User2 Print | T3_NPS.STC.005.008 00(EH YA Zh.txt Y Failed 10= 0t HOo|X| #+&22
test6.txt" = 2 EY X AR SHEX| %3
AU (test6.txt 60, ¥3 AT : 600 2
oY =3 )| 2 AlZh:e0x
Zost X
o 0| 60,
al30o| Q|
600 E2)
HX MEHE = | T3_NPS.STC.007.005 status : EHS Passed
EHotC}
ZZ2IE 0l A | T3_NPS.STC.007.001 User2 now /60, now : Failed 602 EHSI=0 61
22 EdHot SN 28 50 B o= HAIZ} &
Cf.
"User2 Print | T3_NPS.STC.005.009 00(HXHA|Zhaxt A Failed 10= 0t HOo|X| #+&2
test7.txt"S B =8 88X AR : 4 SR (S
AU (test7.txt AT AF 12, A8 A
o =3 Al 7t 4%
2ozt EX|
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ol o
IH IH
- -
3 K
=2 =3
= oo = oon
o ~o o Ao
_I_OL r_OL
O K O K
K K
K ke
— 40 — 10
© ©
g 9 5 5,
(%] (%] = —
£ £ &L L
w 0 v T 0 o
3 3 .. IUAn ..
o < _u._Q_ _u._ﬁ
W 4 ¢ 4
Q ol £ o & o
m.ﬁ /_Mu_o 2r D 2 g o
W > oo N oo
o Ar < _. 0o < . H
- o =R =A< K
2 S (BMg By
© —y) = - -y = -
4 5 Bl 8 oK o0 ™ ¥ 8 @ o0 I
LN ~— (@] —
(] (] — —
S S o) )
N~ N~ [¥g) LN
o o o o
S S S S
O O () O
= = = =
n n n 0
wm wm V2] wm
[a W [a W o [a W
N_ N_ N_ N_
™ m o m
— — — —
o0 Kf 20 10l k= I R o0 Q = £ I R o0 3
- L m I E gy 0 s &y @ o s
N5 | o Sl s S mr © 5
S 80 of| I Klo m%%ﬂmmwoo_. m%%ﬁﬂ%%
50 — ®|<0 .- S e = % 30— RO S e = 350 RO
% or N Il E_o_eLl.Q%aﬂo_:o“_oo__zQﬂaﬁoeﬁoo__z
of M ol|& 7ol o0 7| @ ol /3 AU or m ool ¥ L ol F AU oo mo oo
BoAr | A S 2
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Ver. T1-2015SE-NPS-STR-1.0

"User2 Print | T3_NPS.STC.005.012 00T A Zhaxt Failed 10Z0tCH HO|X| 22
test10.txt"E gl =3 82X 4AH 7 SR %S
= UF A 70, AQ Al
(test10.txtIt 2t 7=
4 =" A
a3t 81
o &o| 7, &
39| 0| 70
4 Z2)
07| X ¢l | T3_NPS.STC.007.002 User2 4, User2 5, User2 Passed
o HEE 6, User2 7
Z oI}
X THZZ 9 | T3_NPS.STC.007.003 X T : 100-now, Passed
oot stHo| = now : ®X &= F¢
oLt 2
Y3 TS 9 | T3_NPS.STC.007.004 43 zhE . 3000- Passed
oot stHo| = now_ink, now_ink :
Ehijug LR &8st 43 ¢
"User2 Print | T3_NPS.STC.005.013 OO AIZhtxt M Failed 102 0tCE HO|X| 2=

test11txt'S ¢
2

=
(test11.txtIt
=Y A ZQot

g2 &0l 7,

2 =Y 8X A2 7,
A3 AR .70, A8 A
7=

Si=X| HE
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Ver. T1-2015SE-NPS-STR-1.0

o
2 4%
“User2 Print | T3_NPS.STC.005.013 Passed
test11txt'S ¢
3 (@7 ¢
7t 7tS M2
8%)
"User2 Print | T3_NPS.STC.005.008 Passed
testo.txt'E ¢
=
==
"stop’= YTt | T3_NPS.STC.006.001 Passed
Cf,
Hxf MENE & | T3_NPS.STC.007.005 Passed
2{oict
“Userl  Print | T3 NPS.STC.005.014 becoun pace toaa succens - RTINS
teSt" E—-llﬁE I:i:: éoDml;a:Ee}:.iPrint
[Excute Controller.
T = a writePrintQue
‘U‘I'%lgl ol | 1}: nottF:und‘(:gode:iil)
g B2 9
o He
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4.2

Evaluation

% 65702 Test & 19| AIfj 46RO H&

Al

|0

C}H

Ver. T1-2015SE-NPS-STR-1.0

| 89 & 37tXIQ ER= o2t ZLf.

Ao s MOFE A2 Xt (enten2 20| EO{X[X| BEU

&0 tsiM &
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SX|7F 60%0| T [If 61HSZE HA|L

EMAE L2 A X9 JHE FHOl =
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